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Book Problem 15

Consider the region enclosed by the graphs of 2y = 3/x,y =
8,and 2y + lx =4,

The area A of this region could be computed in two ways:

1) By integrating with respect to x, A = ff hy(x)dx +
Jy o (x) dx

wherea=_‘?',b= ! cz?—g“bf‘ffﬂh-.-.

hl(x) = ,and hz(x) = .
Gz 3- 4 B
The area A = .
2) By integrating with respect to y, A = [ ha(y)dy y A.

wheredzﬁ,e: ) ,andh3(y)=;_!_3.};_tf1_z
q

J

The area A =
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Book Problem 16

Sketch the region enclosed by the curves y = 5|x| and \3’
y=x%—14,

List the points of intersection of these curves from LEFT to
RIGHT in the form (x,y) :
(=1.,25) and (1_,35).

Due to the symmetry of the region with respect to the y-axis,

the area 2
A =2 [ h(x)dx where a =_1_and h(x) = 5x- (kL 1’-{)

After integrating, the area A =
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Book Problem 21 . : : N
i // = 35 X
Sketch the region that lies between the curves y = 3sin(x) and L ~,

1 c
y = 4cos(x) from x = 0 to x = 0.9n. Notice that this region /// Ogt‘(”‘
consists of two separate parts. ; e
=dzn
Using a graphing calculator, the x-coordinate ¢ of the point -,‘717 147
of intersection is approximately equal to 2927 29g /’}

The area A of this region is = f; dx+ fco.Qn

After integrating, A= _____,

dx T 0@“’3%—45(/de|/><

qm
v(a?fu]v_,‘[ L

(356 0 — ¢ ) ol



X ( wdfh
9. (1 pt) UNCC1242/EssentialCalculus-Stewart-Sec7.1.25.pg ¢l 7 {;" 2 -
Book Problem 25 Areo g Lfﬁr) i ﬂ A
. . . = Ax| i
The widths (in meters) of a kidney-shaped swimming pool, E o +‘f(%;7) 9 (5,*;) f‘f(ﬁs‘i\}-l-

measured at 2-meter intervals, are:

- (7:[){-4 (5::5) t 07
=2 i
2 (193 410.3 1294 15,94 5,2)

Use Simpson’s Rule to estimate the area of the pool. ’"B
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0,3.7,54,6.1,7.6,6.3, and 0.

Book Problem 27

If the birth rate of a population is b(t) = 3000e®%%% people WAL x5 , -5 PRJES 1IN
per year and the death rate is d(¢) = 1530e*%'3' people per year, = ~ e € Y Al 152 - (6 - €
then the increase in population over a 5-year period is equal to = r""(f 0,013
the area between these curves for 0 <t < 5. e

sl N /
Thus, the increase in population during that period is equal //’/ﬁ

to [y dr = = _
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Book Problem 31 - ) ~C \
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1= L‘i(@(’ bs%’m)aﬁ

Find the value of ¢ > 0 such that the area of the region en-

= C '
closed by the parabolas y = x% — ¢ and y = ¢ — x? is 140. L' g ( c 'L‘__ N = O)D’L)‘ :c/@ifx _X 3) C; ‘{(C'ﬁ C3 A
2 g =
’ 3 /0 2

Cc=

: : Z i w25, B 2 () 2
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Book Problem 33 G o
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Find the number b such tlat the line y = b divides the region S‘b(ﬁQ 'fé’zw@, 221 ﬁfw \ l¢ v /I LY T4

—

bounded by the curves y = x? and y = 16 into two regions with ), : - \// o _

equal area. _ /kau %Q}‘@H&“ 4] 1 S (J:‘é
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= % 3 i ,
%b = ‘}{M&tﬁ’t) = (/‘faé%}

b=




